THRXAI A O#tEt5 (2013/5/31177E)

X% THX 4 5 = B HEH
FREHKX BLETHT 50 41 91 43
FRHEHKX LA ET 18 22 40 17
FREHKX {rhET 18 18 36 18
FRHE#X ABT—TH 11 13 24 12
FHREHX ABRTZTH 20 23 43 14
FRHE#X ABT=-mTH 24 24 48 26
FREHKX 3ET 30 36 66 32
FHE#X SHT 39 40 79 37
FHREHMX JCHT 41 72 113 46
FHE#X SLHT 35 43 78 38
FHREHX ZAHHET 19 17 36 14
FHE#X SEEMET 21 29 50 23
FHREHX T £ FHET 44 51 95 42
FRHEHKX L FHT 41 38 79 45
FHREHX JEHT 59 60 119 63
FRHEHKX LEE 23 40 63 30
FHREHX FRAEET 17 27 44 25
FREMX fin E BT 76 89 165 74
FHREHX N 389 421 810 365
FRHE#HX THRE 143 133 276 119
FHREHX fEA 82 107 189 86
FRHEX fi E 786 876 1,662 656
FHREHX i 96 120 216 80
FRE#X B3 49 52 101 39
FHEHX RBETRER 330 364 694 274
FHE#X FFRHET 363 483 846 325
FREMX & AT 61 68 129 56
FRHEHKX L/ 482 501 983 329

FREMXET 3,367 3,808 7,175 2,928

HEHX AREETARZER 290 298 588 235
HERX KEP 117 111 228 80
HEHX opt:] 133 144 277 98
HWEHKX BRE 96 112 208 77
S X s 85 105 190 86
HERX s 12 12 24 8
B XET 733 782 1,515 584

KiFHh X ] 508 583 1,091 445
KiFih X 0 3BT 202 263 465 189
KiFHh X BE 333 360 693 285
KiFih X KL 62 79 141 52
KiTihX EEEF 68 78 146 53
KT Hh X +t&Es 151 156 307 103
KT X ThaE 159 147 306 89
KiFih X Tk R AT 156 173 329 126
KiFHh X 7MLF 184 189 373 159
KiFih X REBF 332 384 716 303
KT X FAEF 367 409 776 376
KiFih X AR 4 25 29 29
KiFHh X HEYNE 104 108 212 65
KiFih X HIVHLE 514 524 1,038 388
KT ih X 22LyE 544 569 1,113 324
K13 X G550 0EY 3 13 16 16
K X 5t 3,691 4,060 7,751 3,002
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THRXAIAO#tEt5 (2013/5/31177E)

X4 THX 4 5 = B HEH
SfEHX FXRET1X 145 180 325 161
ITEHX FTRET2X 360 432 792 365
SfEHX FXRETIX 234 233 467 214
SL{EHX IMA{fEE—TH 243 338 581 264
e X MEEZTH 256 297 553 224
SLTEHEX MEBE=TH 585 593 1,178 426
STTEHEX IAEAEMTH 124 176 300 141
SL{EHX = THT 409 439 848 362
SI{EHX ) 286 310 596 243
SLTEHX [Faldne 690 757 1,447 559
SfEHX FTRET R HEE 145 148 293 154

SfER X ET 3,477 3,903 7,380 3,113

KIIPHET P=E 67 81 148 52
KINAHET INER 64 82 146 54
KJIINET i 228 248 476 185
KIINPHET et 51 45 96 42
KIIPET KINALL 97 111 208 76
KIINHET 1IEHis 72 83 155 58
KIIPHET = H 109 123 232 86
KINAHET 25 128 135 263 94
KIIPHET TE 229 248 477 187
KIIPHET RIS 28 62 90 90
KRINAETET 1,073 1,218 2,291 924

28T f=H 50 52 102 32
=11 P 28 34 62 18
28T Fi& 26 27 53 21
2)IET KEJ| 115 131 246 89
21187 By 52 53 105 44
21187 15E 181 185 366 139
28T INEI 97 101 198 73
=) bl 113 125 238 97
2JIET 218 43 43 86 39
21187 IR 67 76 143 52
28T AK 26 27 53 24
2187 - Eag 23 20 43 11
28T A= 33 37 70 21
28T ZH 37 48 85 23
2JIET TtE 37 34 71 23
28T VPl 104 122 226 65
28T RE 53 56 109 27
2187 BEFH 80 106 186 58
28T 2 ¥ i 477 247 724 399
2)1ET HEE 2 12 14 14
2| BTET 1,644 1,536 3,180 1,269
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THRXAIAO#tEt5 (2013/5/31177E)

X4 THX 4 5 = B HEH

K % 2 HT Kiz 110 112 222 66
K % 2 HET BES 10 12 22 10
K% EET GEii 108 112 220 69
K% EET HEFE 48 60 108 44
K% EET B 43 41 84 24
K % EET AR 60 68 128 37
K% EET EEBIRE 45 40 85 20
K % 2 HET =e]il] 67 57 124 43
K% EET puipEs 57 64 121 41
K % EET g 101 114 215 62
i % 2 ET EE 72 61 133 43
K % 2 HET B8R 50 64 114 35
K % EET st 97 79 176 49
K % 2 HET H 358 381 739 254
%IRRT ET 1,226 1,265 2,491 797

BREL =11l 53 57 110 32
R S HT L 131 133 264 72
PR Z BT KINE 125 146 271 82
R Z HT INER 47 51 98 30
FER ZHT 8T 70 91 161 50
FER ZHT FFE L 152 166 318 94
FER ZHT [REE 162 164 326 93
FER ZHT HFH 215 218 433 146
R Z BT =i 61 73 134 39
R ZHT Bk 1 1 2 1
FER ZHT pN:i 48 53 101 31
R ZHT K& 74 75 149 49
FER ZHT mE 67 60 127 27
R ZHT a0 42 51 93 22
FR ZHT ER S 58 75 133 35
ZR:ELIES 1,306 1414 2,720 803

KIJIET ' 151 186 337 135
KIIET A 55 58 113 52
KINET PRI 95 102 197 64
KJIET HF0O 109 110 219 56
KINET & 95 111 206 67
KJIET JIFg 98 102 200 66
KIIET HOAE 0 0 0 0
K JIET Eqne 159 174 333 104
KIIET )l 218 257 475 182
KJIET e 99 122 221 64
KIIET RHAX 54 56 110 36
KJIET JIR 85 99 184 66
KIINETET 1,218 1,377 2,595 892
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THRXAIAO#tEt5 (2013/5/31177E)

X4 T4 5 = i HEH
NI E%) 124 138 262 92
¥ ET L& 63 62 125 39
N T& 220 265 485 189
NI TF 88 112 200 85
NTL 7%= 35 50 85 32
T EiR 63 74 137 47
N o 89 86 175 60
T I 114 120 234 77
N ABRK 37 33 70 28
T =V 100 129 229 84
KA ET 5 105 117 222 74
T b} 96 99 195 69
N o)l 66 59 125 41

FAHETET 1,200 1,344 2,544 917

—EHr B/I\AH 759 846 1,605 675
Z B m\/\ 45 241 250 491 202
—EHr JNE 780 860 1,640 677
BT KE 554 553 1,107 406
—EHr s 110 105 215 106
—EBHET ADE5 108 127 235 94
—EHr R 179 247 426 180
Z—EBHr EHF 94 108 202 80
—BHr f H 65 83 148 59
Z BT =5 52 61 113 45
—BH A 56 62 118 45
BT haF 36 41 77 37
ZBETEt 3,034 3,343 6,377 2,606

B ET g 550 608 1,158 462
BILACHET f=2#0 71 57 128 54
HILCHET Rk 1,045 1,054 2,099 824
BILACET BHE 74 67 141 49
BILACET X fH 88 89 177 75
BILACET ko 178 203 381 141
BILACET ENIN 159 188 347 132
BILACET HAAR 102 101 203 83
BILACET RAR 207 219 426 162
BILACET e 164 194 358 162
BILACET ER 64 80 144 67
BILACHET T& 11 11 22 8
BILACET E)IN 96 92 188 84
B ILACHET ToE 5 9 14 7
BILACET NAEF 92 94 186 64
HILCHET BB 10 4 14 5
BILAHTET 2,916 3,070 5,986 2,379
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THRXAIAO#tEt5 (2013/5/31177E)

X% THX 4 5 = i HEH
LA ET RAE 269 304 573 260
(L ET WA 459 483 942 395
L ACHET =INA 57 67 124 51
L ET b 80 88 168 64
L ACHET i 56 52 108 46
L ET Ba 132 163 295 139
LA ET AR—RX 247 255 502 197
AT ARZRK 363 416 779 335
LT AR=ZR 123 140 263 114
L ET b prd 173 196 369 170
LT NN 109 129 238 122
L ET A 117 122 239 94
L4 ET B[ 110 142 252 132
L ET [ikz) 132 121 253 87
LA ET BRAR 41 40 81 34
L ET ¥7 2 58 44 43 87 28
LA ET E%) 64 63 127 48

(BT ET 2,576 2,824 5,400 2,316
T 27,461 29944 57405 22530
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